UP Police Constable Question Paper 30 Au@2624 1st Shift

1. 3*4aFarfgs, afinid “%«J)
34wt g3, 4w fare)
3@A4TIAHTR3, 4HUE R .@@,@@
3&4FHAAR 3, 4F AR R~/
3t4mIri g3, 4R —
L@M &N#0+P*Q# R ¥ 37w, M R & e wehm daffere & 2 S
(A) el B g el
3 * 4 means 3 is the mother of 4. “f: '
3 # 4 means 3 is the father of 4.

3 @ 4 means 3 is the brother of 4. O
3 & 4 means 3 is the daughter of 4.

3 + 4 means 3 is the son of 4. O
AccordingtoL@M & N#0O + P * Q #R, how is M related to R ?
(A) Niece (B) Aunt (C) Nephew (D) Ul?c!e
2. Wﬁmﬂq@ﬁamwmr@ﬁ%mﬁaﬁqﬁﬁgﬁzﬁm%mﬁaﬂtmm%|?ﬁﬁ;{ﬁ=ez$rg§_
e foem <Y i swmr st 2
(A) sfr (B®) NOZEi (D) zfeForafingy

Ramy put his timepiece on the table in sich a way that at 6 p.m. the hour hand points towards the South.
! Then towards which direction will the m&;_szte hand be pointing ?

(A) South (B) East (C) North (D) South-West
3. fowwgm g fifer Q ‘
(A) oS : T % (B) SRMieT : g
(C) 9Tt - qEE h \(DY SR TS :
Find the odd pair : O
(A) Balance : Mass (B) Barometer : Pressure
(C) Thermometer : Temperature <] (D) Screw gauge : Volume
| 4. Y@L, 2,6,24, W el de q@ Hivw |
\ Find the next number in the serigs 1,2,6,24, .
(A) 60 @/lzo (C) 48 (D) 84
" 5. ﬁﬁama:rr15aﬂa,zozzaﬁgmmuaﬁa&aﬂmﬁaﬁﬁwﬁrmmﬁmmmﬁmﬁﬁm
o7 9
(A) WTEER (B) Uaar o3 (CY TR (D) TR

Siva was born on April 15, 2022. The sa@‘é year Independence day was celebrated on Monday. On which

day was Siva born ? I

(A) Tuesday (E:),.Sunday (C) Friday (D) Wednesday
6. B e Y e & a2 3 foren  wgeaw e g ?

(A) e (B) =M1~ (C) fimm \(DY T

How is my father’s sister’s son’s father’s father-in-law related to me ?

(A) Grandmother (B) Uncle (©) Father-.} 4 - ' -(D) Grandfather

7. AR vz CATASTROPHE ¥ 18RI 1 avinren m & afe R ——
TEE iR, R [OENO TSR o1 T 2, S Gerdareent 3

"4 1f the letters in ‘the word CA’TASTR(?PHE are rearranged in the a[p]mbbﬁeal order. which one will be in
the middle in order after the rearrangement :
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: 1,510
8. ?TE{FEMALEﬁ654135%Hﬁwmm%ﬁﬁLEAFaﬁ ﬁm,ﬁm?wm
If FEMALE is coded as 654135, then LEAF will be codedas . e
(A) 3526 (B) 3625 \(CY 3516 (D) 6523 N %
9. ﬂﬁPaﬁIQWGﬂWS:ﬁ%aﬁTQﬁTRWWM:lS%,?ﬁPSﬁTRﬂ'TFWQ FTE 2 (A IS -
If P and Q are in the ratio 5 : 6 and Q and R arg, ixf the ratio 14 : 15, then P and R will be in the ratio : e v
(A) 9:7 (B) 8:7 o3 ‘(9)/?:9 oy (D) 7:8 s Q4P
4 et 50 Rl 8 ST R |
e T R & e o @ R | e 15 R 4 W ¥ wrel, s e sea G'.LE!-“;,'LJH
é‘fﬁm%ﬁw@:aﬂaﬁﬁﬂaﬂwwﬁmﬁnﬁmﬁ?ﬁ%|aﬁ‘:‘ﬁrﬁaﬁwxﬂgﬁﬁﬁa{\ﬁm%? R
300 faet ® 2s0fmh () (© 2wofEh (D) 220 et b
A bus is going to Coimbatore from Kochi. Wifli'4 stops of 15 minutes each, the average speed of the bus
comes out to be 50 km/hr. But if the driver tak Ahe bus without any stops, the average speed comes out to
be 60 km/hr. How far is Coimbatore from Kochr: ¢
-. (A) 300 km (B) 250 km «f (C) 290 km (D) 220km & S’i{ ; A
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oS = S
30 A
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U = . . 4
2000 < 2001 ‘ ey
e i e = 350000 3 e it o s e = 440000 9
Total No. of Cars Produced = 35000'[}] Total No. of Cars Produced = 440000 m—

o 2001 T P TR T I 6T IeareT Fierd 2 HH €T, 4 2001 F Ienfed P 5w BRI Y e
&It 2
The Bar chart given above shows the percentage of six different types of cars manufactured by a company

over two years. If the percentage production of P type cars in 2001 was the same as that in 2000
would be the number of P type cars produced in 2001 ? ,

(A) 132000 (B) 225000 (©) 120000 (D) 145000
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S AR, B

2. s 1332, 5, 8, 3 svreht s g R | \6 c 9
Find the YRxqTin®lr in the series 13, 32, 57, 88, __. 4 \/ -
AT 125 (B) 136 % © 110 B 1% A
‘13, STENH HEAT Fid IR | \}5\'}3‘-’1 1
‘" " Find the dissimilar number. G e ol
p 216, 343, 504, 512, 729

(A) 216 504, {©) si2 (D) 729
TN Mg ﬁﬁmmwmaﬁ%ﬁaﬁﬁ&mmﬁﬁﬁm%@mwuﬁmmwﬁhw%

- O 25
=N S
) e, LS TP ) 17.5
s 15 <

10
E 104 7.5 7.5

i g o
g 0
S FF OFE OF oaf B OF 25 g
-l - '.q K
q,é/vg? 1.{5 il ¢ - O% F %f&?(lﬁf b
555 ; 2 ASooo
& O _— Frans
-~ Ife forgmoT W=  2.55 FUS &, A Uiae 37 o O g o ofte o1 A R 2 ?
© (A) TS05T@ N (Bf T425°m@ © 3259 (D) 3557
! The bir graph given below displays the perccntage,distribution of a company’s total expenditure across
. .,  Vvarious expense categories for the year 2013. ™
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If the expenditure on adverlisement is ¥ 2.55 crores, then the difference between the expenditure on
transport and taxes is ;

(A) ¥50.5 lakhs (B) T42.5 lakhs (C) T32.5 lakhs (D) ¥35.5 lakhs

.................................
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15.

16.

17.

19,

20.

21.

22.

© ¥ U

A
e e P afdm & sreer Ry s, A afor-afim w1 fees g et o s 2
(A) Iatafam (B) ufim (c) g Nz BRI dl
If East is replaced by West, then S th-West will be replaced by :
(A) Northl-)West J CS(B)W;IJ;;;:] (C) South-East (D) North-East
%@WZWPWM, \f i ormigem ARl . o ) B0
Find the riekt mimbe@in the series 211, 227,233,240 ___ "~ '. -
(A) 263 (BY 257 odC) 251 (D)

: TP
ﬂﬁ-SCREWa?rRcswE%wﬁ%@Im%ﬁmﬁsaﬁwm%@mw_ LM

If SCREW is written as RCSWE, then NAILS will BE written as :
(A) AILNS (B) IANSL ) NAISL \(Dy INALS

Uk STEATHR e £ efard it Sier A 8 : 7 A A ¢ | HEWGTW@FH%,}HW%W:
T 3 e 28,8 Reester Ry & 2.5 e 3 GRG0 T © | BT T A TR 2

(A) 89600 = ., (B) 84600 3 L. <© 79600 = . (D) 99600 3 H. |

A rectangular field has its length and breadth in the ratio of 8 : 7 respectively. A man riding a blc.ycie, _.
completes one lap of this field along its perimeter at the speed of 28.8 km/hr in 2.5 minutes. What 1s SE "‘

area of the field ?

(A) 89600 sq. m (B) 84600 sq. m C) 79600 sq. m (D) 99600sq.m 8 Loy ;gg

: e
fw My wrsg <“INCIDENCE” 3 iR 78T Rt T ST 8, 98 ST ATt Wl ferehed <hi ae e | %
Identify the correct alternative that indicates the n@)ber of times each letter appears in the given word 117%
“INCIDENCE”". 4
(&) 1;N; Cy Dy B Vmﬁzuz CD1E,  {(§) LN;CDE; (D) hN;CDyEy
AExsy=g pmRay-y Ly g 372 a4 27
Ifx>y=x3+y3andx@y=x —-y°,then3 > (2 = 2
(A) 400 (B) 280 370 (D) 420 . R+
) 8 STTHRE 1 A STeRE S A I TR § & F ferehew R S s arreRfaAt | 9@ Mg
Y ST T & | 48 2
Study the given figures carefully and choose an option from the answer figures that maintains the pattern _ﬁ-7
observed in the problem figures. .

o Al 5 ] 209 (a=d | 282,
ZA = o
= X A 0] = C] ?"Iltg
¥ = O A X _.i_'
I 11 11 IV A ++ j‘ﬁ?
& o q o A ~
(?e, A B) | x @Fr)/ X % =
o = = (@)
ey 3 e, “aE oo HX fUAL Y Ot B e 3 | mﬁ%mﬁ@%ﬁwﬁéﬂ% ?
it (B) ==t =ed (C) wiefisit (D) |
Dhwani said, “This boy is the husband of the granddaughter of my father”. How is Dhwani related to the
boy ? .
(A) Granddaughter (B) Cousin (C) Niece (D) Mother-in-law

-
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23.  FAICHER 5 & 1391 912 fa g 72 “REACHABLE" 3 Yo S1ER 1 et Wk A ST ot g T

ST HehelT & 2
Which of the following words cannor be fornfeg using each letter of the given word “REACHABLE” only
once ? ol
CHANGE (B) REACH (%) (C) CLEAR . (D) EACH
24, IFTATTCFTR 9 g9 Fk ' '
What is the next term ? % <-]
Bil62E:?
(A) 54 (B) 128 (] w9 625 (D) 64

25, @ty AIS@STR? ‘if]
If ‘@’ stands for ‘<, whatis 15 @5 ?
(A) 10 \BY 3 (©) 20 (D) 75
26. ﬁqwamwﬁaﬁ%maﬁ%%qmm*aﬁamﬁ%%ﬂwﬁmaﬁ@aﬂaﬁmaﬁm

Choose the correct sequence of mathematical signs to replace the placeholders * in c-rder to balance the
given equation.

(12%7%6) * 13 % o
R xmh= @K% (] @ == @) + +,-,=

8y o . T 4
,.';'(-. 2401 : 343 % THM U T F1a HIF¥IT | {1

« Find a pair that is similar to 2401 : 343, :'i-f ‘.(ﬂ

\},A()/QSG 64 ¢S (B) 32:4 f"]| (C) 216:1916 (D) 9:27 _E_Ea_?r

28. i fau e e o frent & wey o e faehed Ygenfg 2
F

mﬁwmﬁw%mmwﬁmwmwmlmm%mwmm
3TS fo, mifar i firhs 15% wfeerett 3 € gma o ave e |

foree - Q
Ll o e o i e e g X
IL. a;aa%m%qtvﬁmsﬁaﬁtmqm%mﬂmmﬂmml

\,m/ et e 11 e T & (1 B T frewd i T & 11 srEw R
(C) aaaﬁﬁélamwm% F (D) = FeRd 1 11 ST T
Identify the correct option regarding the stater‘;el‘lt and conclusions given below :

Statement : “:ﬁ

In the rural assembly elections, the ballot box method was used for voting. After the results came
out, it came into light that only 15% of the women in the village voted in the elections.

Conclusions : I

I.  Women didn’t know about the date of the elections, -

1. Only those 15% were registered and had a valid voting ID card.

(A) Only conclusion I follows (B) Neither conclusion I nor II follows
(C) Only conclusion I follows (D) Either conclusion I or II follows

S S S e e
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29. %Mﬁmmﬁmmﬁwmﬁwﬁ%mwﬁﬂﬁm

Arrange the following words as per their order in the English dictionary and choose the one that comes

first :
Elastic; Eldorado; Ejaculate; Electrode
(A) Eldorado (B) Electrode (C) Elastic \(PY Ejaculate

30. FrefrRas i & frg yeg 3 aver stish aofaren F#9 A €

Which of the following words has its letters in the Eggjish alphabetical order 7

(A) Acepots X \(BY" Acerty Sl Acerous (D) Acephal
Frferfa aferent ahr vt R S A Ry sk IR
o T T ot e T = 3276000 i
: p— R .| mer | (Rwew | wvEEen
i TN
| T4
A 5 3 2 7 | 25%
B 3 1 I 4 20%
8%
B 2 3 2 {j 1 . ()
D 35 3 o 2 12%
E 3 4 4 &3 ] 35%

T4i A, B3R D ﬁyﬁﬁgﬁrmw&qmuﬁlﬁﬁm%wmﬁﬁv

R Study the following table and answer the question g{Ven below.

Total population of the given States = 3276000.

QO

State  Gender Literate | Illiterate | % Population
M F
A 3 3 2 7 25% ~
P
B 3 1 T 20%
C 2 3 2010 1 8%
D TOL 3,0 [HEr2 12%
E 3 4 4 |y 1 35%

What will be the percentage of total number of malesyin States A, B and D together, to :He total population

of all the given states ?

AL

(A) 31.15% 0 (B) 35.1% ©) 30% e (D) 302%

e
- - T
O



32. il i, St or i R B e weT feet @ TR ?

FER
260 X 21 g AL
1o L2 5
B R SN

T g
90N
%ﬂ 'Siy \o00 P

In the corporate sector, what should be the approximate numhem central angle ?

ACHOHO&O

e S G Al
Oth (S0 2
4% o Lee \J/’
Banfe) _g_,_fi?(ﬂ
2 7% e
a 20 ¥
HTEEKIES

Corporate
Sector
34%

(A) 121 ®) 123 a © 120 w2 5 —UET
33,* @W@m@%maﬂt@mqﬁéwﬁ,aﬁﬁaﬁtmmmmgﬁm%Iaa

?(aﬂrﬁqaﬁgsm‘%lm:aﬁ@ﬁﬁﬁa@mﬁmmﬁﬂgm%? ™

(A) ST -—ufzm ®) Bm-g a \(OY" @ — 3w (D) T —fér

An athlete starts to run positioning his back towards the Sun once after sunrise and once before sunset. He

turns left, right and left again. In which direcﬁ%is he finally running in both scenarias'res;Jectively 2

(A) North— West (B) West —East (C) South—North (D) East— South
34. ITEAQHRT: B

Complete the sequence :

ZA8,Y7B,XC6, W5D, ) L/J

(A) Y4B - \[BY” VE4 (C) ZA4 ' (D) W4D -

T i B e
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35. Tttt sjeen 3 o s s i Sk

Find the missing number in the following series : 6-
110,132, 156, 210,240
(A) 1849 72y (B) 190 (C) 176 D) 182

36. S wfdm e & 40 Hier srerr 2, ﬁ?{mgsm%aﬂ'{ 30 Hex SR IR | a‘smﬁmﬁﬁﬁaﬁ%ﬁaﬁ
AR Ry A 0
\B 50 wte afiro.afiny "% Q@ e
©) 41 xsm : o (D) 45 g
James walks 40 metres in the West dlrcctmnG].ms left and walks another 30 metres. How far and in which
direction is he from his starting point ? ;

(A) 50 metres South-West () (B) 47 metres South
(C) 41 metres North Ny (D) 45 metres East
37. Af sy A IR 270 Ferf o g, i a7 o e R R ¥ 2
W ® oA (©) I ©) N

Which way are you facing now, if you spin 270 degrees clockwise from North at the beginning ?

(A) West (B) South (C) North (D) East
38. Eaﬁrmw&amaﬂ%mmﬂm%aﬁm%nﬂmﬁﬂﬁmﬁﬁfﬁaﬁqaﬁ12%awrsrm€r1aé?? '

The printed price of an article is 40% higher than its cost price. Then what is the rate of dlsc{)u.nt so that
the gain is 12% profit ?

(A 15% ®) 18% o (2% (D) 21%
39. | U FE &I T 1,700 ¥ ¥4 |, wwﬁ@%ﬁaﬁﬁaﬁ% 1 20% mmm%%%qaﬁwaﬁ#

m&mﬁﬁam%ﬁ’m e
Oh selling an article for ¥ 1,700, a shopkee@ loses 15%. To gain 20%, at what pnce must he sell that
article ?- -
(A) 2,120 (B) 2,100 pa (C) %2,155 \/f[)(‘”é 2,400 '

_ T QT forsha = T TR i 10% i 81 | 3 7€ 38 % 1,080 3fereh ¥ sr=ra, ot I/ 10% 7 @
§m|gma;aﬁaﬁﬂairmfﬁm| ' e 2 S
A book vendor sold a book at a‘loss of 10%. Had he sold it for ¥ 1,080 more, he would have eamned a proﬁt- i
,0f 10%. Find out the cost of the book. o e e 2
(A) ¥ 5,400 (B) ¥7,400 (C) T4 420 (D) T6,480 - b1t P

41r,qaqﬁmﬁ8mﬂ’r§mmammaﬁms 1 a@ﬁwmmﬁmssml 17 ST & fed AFFTY 2.~

; ‘#Fhe average of marks obtained in an examidfffon by 8 students was 5.1 and by 9 other students was 6. 8
4 - The a’iierage marks of the 17 students were : _ - 4o. Q e

(a) 598> (B) 65 ¥ 0 59 BT 6.0 &'l
A mmwiﬂﬁﬁwaﬂwm%mﬁmzﬁat{gﬁwp i ARE +9x 0}
¢ "“THe average of seven consecutive positive m%ers is 126. The smallest of these mtegers T2 /P?"

iay 123 (B) 126 (©) 122 e (D) 135 2l 304

43, e T g A T T S 3 - 4% TR o gy ok IO?ﬁE’(WﬂﬁEﬁ\‘% ti’r:ﬂ:rcnm 5 B ST @
2 | vy 3 ot fRreror St Rt HET A off 2
e ® 0dx L (© soeher (D) 208 3
The ratio of milk and water in a pnt is 3 : 4. If we add 10 litres milk and 10 litres water, then the ratio, -
. becomes 4 : 5. How much quantity of total mixture was present 1mt1ally '? .

(A) 70 llffes__-------E?.)--@?_“.ti"ﬁ ______ .0 SOliges ™ (D) 20litres
KwWu-24 e 3] ¢y Pageguf B w0 L oessesceeRmppegaRones
129 | | E"“"*"L""”":'&
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44,

45.

46.

My Sy

|oe 0"

e A& AL 0o

: ‘..
A 3R B et 521 i s § 1 af BT A 35 9 9 T ST &, 1 9w 60% G T 8 1 3R B A A F Al H
BT faar Sy, i A 31 B 3 gt et o g o fom o o B e ?
A and B are two heavy steel blocks. If B is placed on top of A, the weight increases by 60%. How much
weight will reduce with respect to the total weight of A and B, if B is removed from the top of A ?.-Q'-’
R

(A) 45.5% B 37.5% @ 60% (D) 40% Tes
AT ST X 20 T 8 e e = € st @ Ft oty fif ) _ 8
A sum of money becomes four times in 20 years at si)fiple interest. Find the rate of interest. l«’_f_"{,? 2P
(A) 20% (B) 8% 15% (D) 5% | 20

10% 1 T 33 331G 8% o1 <M T <heet o fore, sher gar & e sger ot o sfcrer pf @i < 2
To gam 8% after allowmg a discount of 10%, by v@t percent must the marked price be hiked from the

(7 t ?

K5 i \(BY 20% Q@ 19% D) 18%
abaﬁtsﬁangaﬂaﬁqms 28|13 TG T, mﬁm%wmmsﬁﬁm:mﬁaﬁqnmmﬁ)m
feperft & 2 =t

j[L__X 07'r1' he ratio of the ages of A and B is 3 : 2. Ten years hence, the sum of their ages will be 80. What are their

Y
=i respective present ages (in years) ? P Q5 A6XAE g 35 MY SP se
£ _ 628 €Té¢ o e g
\_’(;Ev)/‘ 36, 24 (B) 45,30 )27, 18 (D) 42,28

48.

Ttz 51
HeE =4

N,

Ush ST T 3,825 IUR T & K 9% & WA aifieh ﬁﬂﬂmm%ﬂ%lwﬁwﬁﬁmmﬁm
waford) i arfiier 3T 4% 8, & W forvd o e |

A doctor borrowed T 3,825 and he returned the money-in two equal yearly instalments. If the annual rﬁf
compound interest (compounded annually) is 4%, :ﬁﬁﬁn’ the value of each instalment.

(A) ¥2377 (B) %1,783 £2,028 (D) 2,275 Heps
xty 2 H6

<Y T 1 ATEe 36 § SR FHH AAT. (HCF) 4 T demell F frar qmanas? g ¢

The sum of the two numbers is 36 and their HCF is 4."How many pairs of these numbers are possible ?

@ 2 5 ® 4 1 D) 3 EXE = 8 Heb
Tk YT 23.6 foRefi/ere <t aTer & U wiewid w30 Ve H TR S € | 36 o8, T8 M, 12.4 ey
W%ﬁﬁﬁﬁﬁﬂﬁﬁaﬁaﬁﬁaﬁﬁaﬁumﬁwaﬂ?ﬁ%lm@ﬁm@mﬁﬁm X2

| ﬁg ,\gm/uorﬁ (B) 120+ ' (C) 150, (D) 105 Ht.

A train running at 23.6 km/hr takes 30 seconds to pass a platform. Next, it takes 11 seconds to paﬁ, man
walking at 12.4 km/hr in the opposite direction. Fmt@e length of the train. OK. g}
26¥"™ (A) 110m - (B) 120m 150 m (D) 105 k)
9 &{51. "agtﬁfrﬁa’rﬁmmaﬁﬁw‘m 43311{60:} : R gt | | A
PS> Find the smallest number which will be completely drwsible by 24, 48 and 60. 'g-r'ﬂ’ 2(
/( A 240 ®X 0 . 120 (D) 480 ]
5 52, e T e o A A 12, 15, 16 97 1R Rt 3 w3 A o s o e 3 1 AR T

o
3%*% &*"Aﬂ officer of the army wants to arrange his soldiers to stand in rows of 12, 15, 16 and 18. If he wants to
6

o & 6 3 ¢k S # st een R, ﬁwﬁmﬂﬁ@ﬁmmﬁﬁql

arrange them in a solid square also, then find the minimum number of soldiers,” <" &
O 60 1440 (©) 180 (D) 900 ;&.Cﬁ"yg
""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""" £ -
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15 — * 66+ SO Wk .

18 12
@n‘i‘—iﬁﬁm"rfd%mﬁtsﬁﬁmﬁ%zﬁﬁﬁrﬁiﬂzﬁmﬂﬁmﬁmﬁzgﬁaﬁmm@ﬁm: 11 Fehe &t

53.
10 ¥k 1 aHa Tt ¥ | 37 = nfer g AT | ‘ ,
(A) 20 R B) 17 fdiaer ©) 16fmdEa (D) 18 /e
A train takes 11 seconds and 10 scconds to cross 2 men who are walking in the same direction of the train
at the speed of 6 km/hr and 5 km/hr respectively. Find the speed of the train.
(A) 20 km/hr (B) 17 kmv/hr (C) 16 km/hr (D) 18 km/hr
54, o TR G T Y 150 R 7 qu Ha § | AR, 15 wgaﬁr e 3 o g 165 Rt % qu fran
T | i HI <t v T o
165 TTEX (B) 150 AN (C) ld@lﬂq (D) 155#9I o
Some workers could complete a work in 150 days. Howeidér, due to the absence of 15 workers it yas/
completed in 165 days. Then the initial number of workers - \ @3(?— = \(5
(A) 165 workers (B) 150 workers (C) 10¢fworkers (D) 155 workers -
il e w s P
55. A, B 10% aTita it 0 & W0 S T T 30,000 I (Y | 5 &[G B SIohTaT TIRT <61
1wz 40,000 3t weh w2t wHeTaT & | et T e e hifswC | ﬂ _
A lends ¥ 30,000 to B at the rate of 10% per annum on simp interest. After 5 years, B returned ¥ 40,000
and a watch to settle the dues. Find the price of the watch. ; 2 M}}P
(A) 4,800 (B) %3,200 (C)€5,000 (D) 3,000 \ i
56. ARBTEHEEH 10RA TR aHd§IBIRCIH 15 Rt TR § | A 3t C 3 12 oAt F e T wx
¥ 1 A, B 3 C firer 38 forem Rt F quam s € 2 :
(A) 15R ®) 17f © 1087 N g AN
A and B can complete a piece of work in 10 days. B and/ & can do it in 15 days. A and C can doiit in |
12 days. A, B and C together can complete it in how many days ? : : e
(A) 15 days (B) 17 days (C) 1dKays (D) 8days PP —10
: <
57. ﬁq%ﬁaﬁﬁﬁma:aﬂq-ﬁsh%aﬁﬁmmw%?% B4 M
AtC— % §
(&) FE-TT K \(BY R - E oy \S
(C) Issae - AT X (D) - 2+ -
Which of the following pairs of words are most similar in meaning ? l nE ) & Qg_m
(A) Hard - Easy S W (B) Soft — Gentle KLz 3
(C) Bright—Dark (D) Buy - Sell
5§ e fird ww a0 R R ol e ok A3 ¥ | U, Et 3 3 e A 43T @ | =, e o Jien < o e # |
9 e S F A, el Fr F e A AR S S dm e ol AR dar g7 o 15
(A) I \BY 3 (©) (D) =Tl (et ARy
Six friends are sitting in a circle facing the centre. Adam is§itting to the immediate left of Betty. Charlie is
sitting to the immediate right of Frank. Betty is sitting bcrv{fjn Adam and Dan. Eve is sitting between Dan
and Frank. Who is sitting to the immediate left of Frank ? ¥
(A) Betty (B) Eve (© m (D) Chailie =
50, H U AT 7:15 % & Rawdi § | 6 o e A gd I Ao ¥ {r
127.5 faft . _ @) dsfof sz FST- 180
© 130 it D) 122.5 et )«g'* = _KER1 6
A clock shows the time as 7:15. What is the angle between the hour and the minute hand ? K {j’S
(A) 127.5degrees  l&%® o ) 15D(B) 142.5degrees * gt (S 8
C) 130 degrees 122.5 degrees
BOOL s oo s) s Lsrrz 158 3AE).
KwWuU-.24 L b‘ i Page 11 of 24 AP+ '
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60. g g i '
ﬁmiﬁ_‘ﬁ?::m: —
g ®) foema@gm . (©) @)

Complete the analogy :

Doctor : Diagnose :: Judge :
(D} Execule

(A) Judgement (B) Instruct (C) Build
- )
IS T RIS ¢}
By i aftra - R J
B (A) fem - W (p) wifw
(©) i L oy
s Complete the analogy : ES
g~ ONg Algebra : Mathematics :: Symphon |
;ft"';‘-i-a’ (A) Painting e (B) Literature
(C) Sculpture (D) Music

@ % ST e o e g (SR & oft o g8 Rt e () 35 & T T

(<) 35 Ty 3T e a’rmwaﬁ%W}wmw%?
" \M (%a'\qm:r) C i (B) 3T (T
“'e. ) ,W@m g () T ()
Sf s ll.f; YEOE:I have a regular dodecahedron and youc[lce it in half along a plane that ;jasses through the centres of
B o o R opposue faces, what is the shape of the crosisection ? A
. ; i (A), Hexagon Cl (B) Rectangle
KA © Decagon (1 (D) Pentagon

63, fowm g i
Find the odd one.




64. TN T IR 3 g, e 3 o, o Sy =y 35 e oy 3 o e & | W0, e & fopw e g 8 0

(A) el (B) TmE ) Hhe (D) HMET
Introducing Sarath, Anila said, “He is the son of the daughter of the father of m%.unclc How is Sarath
related to Anila ? . -t {..

(A) Nephew - (B) Son-in-lay (C) Cousin B (D)” Uncle
65. W%Wf{?ﬁmaﬁ?m%ﬁh 12 3fffi6 A & R 8 2

What is the smallest posnwe integer that1§ divisible by both 12 and 16 ?

(A) 60 (B) 16 "t () 48 - (D) 96
66. IS SwpT T hifdr |

Find the next figure.

2

67. LI I 3TV ﬁﬁﬁmmﬁﬁaﬁmﬁmm%mmmmwml (A), (B),
(C) 3R (D) & Ferferr gt ammapferat i & chbtorrapter S it Shrert b Herdy ST 9 & g et B |
Study the problem figures marked 1, l(l:]lll and IV carefully to establish the relationship between them.

From the answer figures marked (A}(}B] (C) and (D), pick out the figure which most appropriately
completes the series.

e ———
N e
I 11 T -
111 5 o |
- K{ m
W Rl @ ®R o | K1 \{P{ I
68. I STTHF I TR S Yo FH
Identify the figure that completes the pa
? -
(X)
w i © o X
RWU.24 "~ Page 13 0f24 T TTTTTTommmomesemeccccceoeees




@.

' “% o
‘JK | A 2 O
48 .
1
J
P IS 4
; Q!
& M
ﬁaﬁaﬁmﬁaﬁﬁnm%o N
How many squares can you count in the figure ?
i ]
‘ =)
. 5 J
=
(A) 20 vy 14 © 28
H
71, G Y I : O
R : Tf¥m = gt : ? <]
(A) 3T B) i NI G
Complete the analogy :
India : Asia :: Italy : ? :
(A) Africa (B) Asia (C) Eyi?pe
72, S STTC HeAr F e ? NY
J@e:9,27,81,243, __  af 40 .
What is ‘Eexfpup}b’er in the series ? (%
Series : 9, 27, 81,243, ;
(A) 623 . (B) 591 © 4?%
73. 37Tt TeRfd Frd Hife |
Find the next figure. ﬂ
* ©of|/f *x||lv =
m All> o0 *
® * > B
(A) (B) ©
A m i b
T s /T e

fou e vt 3 gy oy s v AR < it o v 3 fore et g 2

From the given options, select the figure which will be most s&table to be placed in the last square.

P

/‘}

" (D) 18

(D) 3ieTehieaht

(D) Antarctica

(Dy729

-
_________



4. o R e e v, e Qe | AR 3 et 48 e o s e, 3 ot v 6
T I W R 2
A student made twice as many mistakes as he got co
how many questions did he get right ?

"
W16 .gm 20 X e

©) 12 :UD) 18 49 " b
AR H: & Z{ ',31-—_5

rrect answers. If he attempted 48 questions; in total,

75. FHH AT FTACE: B, E, H, K, 7 '8

What comes next in the sequence : B, E, H, K, __2H:

(&) R "(B) M ey N (D) L
76. ey Famat <

(A f N g €) T3 (D) =T
@ 1992 ST JEHI o forstar i & 2

(A) <. forer warre e X (B S AR

(C) T ym (D) = AEEX
8. ‘qﬁ*mﬁﬂ?-mmﬁé,ﬁnﬁmmﬁwﬁjm?

(A) = \By" T 5C) @ @7
79. @ifter wiEm T ]

o EE (B) 3dd Hic) #ea (D) wgewar
80. ‘uferper Toa H HH-H1 I A & ? E'E

(A) T BT fT 7§07 (D) ol
e Fr TR TSR 2 <1

s (B) WX - (©) T (D) T X

82. ‘TS’ Y1ea o1 YA I8 SA1sC |

(A) (P Fria (C) e (D) e
83. WATIT:

Ay gt (B) 3rg-frammifes UC) gaATEE (D) fmmts - -
84. i-aT Yeq FRAT-fAITUT g 2 5

(A) T (B) w1 ey o (D) e
85. TE-EY H AT T E 7 4 '

@7 T ®) Ty o) fiy ©) =
86. 31T et At <[ TR bl I FAGAL? '

(A) BTeRT SHTAT < B) @wg~ar <kt Reufa

(C) W& Tl (D) e it feufa <.
87. v eafy g @ o faia ATt 8 2

(A) HEwHa (B) gz (C) want O 5 &1

i = S e e e e e = e = e e e e e —————— e

KWU-.24 Paga 15028 = o --omsmmsamsssssnes
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88. mmﬁwﬁﬁﬂﬁﬁmmﬂﬁmwiaa“C'EE“E"T"

Y Yl (B) STIH (€) i 2
89. IR iy yreg. g 3k Fore et ond A T
(A)"‘Tﬂ'ﬁ—'ﬂﬁ‘gﬂ (B) ﬁ?ﬂﬁﬁ—ﬁﬂ vf(ﬁ - T (D) ﬁlﬁ—ﬁﬂ?ﬁﬁ
~ 90. TR e 3 TR 91 T T A Q _ {2
el 5 {k)‘:aﬁm By TR o () T " (D) P
fo1.) ETCIRCEIN o
TG’ (I9-ATH) i
() FET ®) T a oo REEE BT 3
Hh

. ®. 928 96 TNV W9 : m“mﬁm% T ——
A i < g ¥ we < g A ! 1 b T &
mﬁmwﬁmﬁﬁmmﬁﬁmm%mﬂ;%,mmwmﬁ@
eroredt 3 i 61 o 2 f Ef) 7R S AT T S S | 3 S SR e qe wmdy w
S 2 T ST 5 3 o - 35 e o 31 3 o e o e v a0 o € 1 9 et o
Wﬁﬁmwg-ﬁﬁﬁaﬁmﬁmmm@ﬂ%mﬁﬁwﬁmaﬁmiﬂ”%@mm:mﬁﬁaaaﬁa;
Hﬂgﬁﬁﬁwq@mmﬁ,m:gaﬁf@ﬁfﬁwmtﬁsﬁaﬁﬁﬂwmW:Eﬁmwnﬁmmm
171 G v 2 e | g e A A o ¥ | e & i 3 S R s v o %
ST ST S e ST i T 8, e s & e o et e rget @ | 37 of ettty e s
aﬁmﬁ’i%uﬁnaﬁaﬁ%wﬁ@a‘rmr&%mm%@ﬁﬁuﬁma@ﬁmﬁmmwmmm%m

92, TEH I Y AT IRH T S T il §AT 7 (:J

(O T i 3 itk Y IO ,;# (B) smif st fowmr &

(C) g ¥ g e femaretien & (& afiaT, w4, fre-on g i wfoeai |
93, a%‘a%%qgﬂgﬁaﬁwmﬁmﬁmr%‘a * _

(A) 79 HETER 3BT T 0 R @ (B TR T

(C)  3qA-et BT 8 el it o6 Jexa (D) STGHT-3TAT TIHIH SATIH SGH & Se¥T |

94, Wﬁmamﬁﬁ%ﬁ%:
et s S R A A Tltgy  (B) iAW R A A MR
© WA FEmEggiammas () (D) e wemrd s yERd Fe o ¥

95. H RIS 1 S FH T E ? ?j'
Hh

(A) Tad e i Eg (B) Tr:wrefierto aii fayg wiva

(O 3T TR HEHI 1 WA o O o fova g <t fenfiftem
96. wmmmﬁmﬁwm -
(A) i $i e 3 (B) o 3 <ht UrEafie witmyt 3
@ iy v, APy % T Y
97. T opn o e st 36 fon, e ot e o S B , e - A A 2 9
T -, @) fEm P e (D) “EaT=
T BRIl epesseanneniSRRRRRestE




98, ﬁﬁﬁff'@aﬁﬁaﬁq-maﬁqui}aqﬁ%?
(A) ﬁmﬁ‘sﬁ‘&]ﬂ; (B) o
a2 Waﬁfﬁ%ﬁq-m%ﬁmaq@%?

(&) Tga#nfoawid g : ST TR 7
©) TEmEmEEwg, \Br

a o TG T T & 7

100. FRM I Ty A, oy

A) g \BY T A (© m (D) T
101 Feifrftan & & e st 2 o H

) srpm ®w ¢ o me vy
102, Friicife & & #ar s o 2 @

A) =¥ ® 3 ¢ ©=x ws'w
103, T & e o a2 2

(A) W=y (B) WREN N gk i (D) ferToT

104. v foran o ovef it e et At fepr S 2

(A) ool i (B) e fram o &y e fira (D) Ty ffa
‘@W‘meﬁrwaﬂ?%? o

(A) Fom Gieredt ® swmww Q) sewEmEh . \@r R e
106. 9ATE T BISHT AVHTAT F 7eri o 9 frg e F o & 9

(A) Eifem (B) Swafem % © qfeeim (D) YT
107. 3% YIsai % foTe ueh reg =1 9o iR ek
ISCHGIEESIR:C] <l
(A) U (B) wfanf (©) fFEw NPy aifart
108. fr=fafad are o fore T e sary |
<ttt sl & wfosta w17
(A) TEHE ST AT a By T g
(©) S of. (D) FHAHE
109, ‘ﬁwm’%mﬁﬂﬁmﬁﬁﬁﬁmm%%?
(A) SrrgesgiamT X O B TERE Rt it e
(C) i = < T H: (D) o A e i
110, 37T o1 gaTaarl I & ; <
G T (B) ¥ { © = (D) Wi
111, ‘FEEa a3 3§ 946 T 8 : |
(A) F@ \py s (C) = (D) ¥®
112, <37 W@ &0 Sl T R h
(A) IETE (B) A (C) @y 27 e
T e 1 i e e

249




113, 09 %I fF e g
ey ol 7 G R 8 2
) o e s P AR T

(B) o s o e e e s e 4 1
(C) et $or witairorradt 1 fereeive e ™
WW%WWﬁ%mﬁ?ﬂummﬂm '
In what ways does arccn Finance support sustainable development ?
(A) By facilitating the growth of industries known f.(,n'.cﬂ:igh carbon €
(B) By encouraging the exploitation of natural resources without regar
(C) By funding fossil fuel projects c?
(D) By providing financial resources for environmeftally friendly

114, Wg@mmmﬁmﬁmsﬁ@ﬁaw%? =

missions .
d for cnvrronmcmal impact
! .

projects

What is the highest GST rate levied on white goods ol o) 18Y%
o
(A) 28% - (B) 25% .. @ 12% -
115, WRA &1 Hed a2l a1 . ¢
(A) Fer U FIH {Bj]' ﬁnn@‘lﬂm
) e (D) For e T SE

India’s largest forest is

(A) Kanha National Park (B) Gir National park
(C) Sundarbans (D) Jim Corbett National Park
116. ‘mﬁeﬁ‘muﬁm#ﬂ%ﬁnﬁﬁﬁawﬁw w@mﬂii)?

(4) T @y T () 7T ,
“Lathmar Holi’ is uﬁique celebration observed in u."%jch town of Uttar Pradesh, mentioned below ?
(A) Vrindavan (B) Barsana () Mathura (D) Agra
117. et ST o YT e e feper foret it T ? s
(A) TR (B) (& rEq (D) I
In which district was Uttar Pradesh’s first Traffic Park ‘opened ?
~ (B) Amethi ' {d} Gorakhpur (D) Ayodhya

(A) Prayagraj
PMIDY & 4 G4 ? ,%g
(A) 3030, 2014  (B) 2837w, 2014 ( 15 3, 2015 (D) 2 G, 2015

When was PMJDY Jaunched ?
(A) 30" August, 2014 (B) 28" August, 2014 (C) 15™ August, 2015 (D) 2" October, 2015

119. Freifefias & &-a1 < e 35 e S T T 7 I € 2

(A) e (B) HMR {qT LIGEE| (D) =H
Which of the following country does zof share a land-goundary with India ?
(A) Bangladesh (B) Myanmar 'f Maldives (D) China

120. %&g@ﬁmﬁ{%{%ﬂaﬁqﬁé‘mwﬁggﬁm%_
(a) vHw@HE s (B) qfeam s () TIH IS :
Which battle marked the beginning of the British col:on al rule in India ? ¥ g
(A) Battle of Panipat (B) Batlle of Wandiwash{G) Battle of Buxar (D) Battle of Plassey

121. mmqﬁﬁq\ﬂwﬁ“ﬂﬂmwﬁ? l»]
o e I @) 7 g et
(C) T ST A FHT ¥ (D) Y St Torera 3 gy
What is a significant environmental impact of urbanization ? N
(A) Higher carbon emissions (B) Increased
(C) Decreased air pollution (D) Improved %::tﬁ; Sqli::;f;,

_________..._-______.__-_...__4______-____________
-

- -




122. WWW%:
(A) T T S o
(B) mﬂﬁﬁaﬁrﬁ%&mgr@ﬁwﬁqﬁm
(C) = W 1 sl ene -

APy Wﬁmﬁmﬁmﬁmm%&ﬁaﬂ?ﬁﬁwﬁm%

The term Ransomware means -

(A) Unauthorized access to a network :E: -
(B) A malware that monitors user activity b3 )
(C) A type of phishing attack 1

(D) A software that encrypts files and demgnils a ransom

123. \gia Teaeh, e o v frew o of, o g foredt g o 2
W BiET T = (B) SRIEIH T

(©) I (D) et =i

Who wrote the book ‘Sadgati’, on which a film was made ? _ I

(A) Harivansh Rai Bachchan (B) Jalshanka_r Prasad

(C) Premchand el (D) Mahadevi Verma
124, ﬁmﬁﬁiaﬂﬁﬁ%ﬂujmmﬁﬁﬂ@iwnﬁfﬁw o ? e

A) i T : AAHEA

EC; <ot g . {-] gmag@m ,

Which of the follnwih'g former Indian Prirneﬁ"inister did net receive thf: Bharat Ratna *

(A) P.V.Narasimha Rao gt (B) Manmohan Singh _

(C) Charan Singh :E (D) Lal Bahadur Shastri
125. mﬁmwﬁqm%wa@ﬁaiﬁnﬁeﬁ? o

i f 4 TS W (D) s sitwais

&) e o @ memrml]  ers

First census in India was conducted at the time of which ruler ?

(A) Lord Lytton (B) Sir John Napier (C) Lord Mayo (D) L.ord Auckland :
126. o o & ol over afi o SereTE TR S AT T S | W .

(A) ®) R ki fftT

means taking forceful coptro] of ‘&_}mher person’s wc}isﬁe.. 5 s

(A) Spam (B) Hacking {,; (C) Web hijacking (D) g

127. mﬁ@aﬁm%mmw%mﬁa@w%%? '
' D) T

A) e ¢ (B) T £l A (

%)u)e to which river has an issue been created. 'gtwcen India and Bangladesh ?

(A) Teesta (B) Yamuna { } (C) Brahmaputra (D) Ganges
'@ s g1 ? ~

o fova & s & g3 <]

did World War I begin ?

e 1930 (C))'lwlg ){p) 1914

(A) 1920 A ¥
129. T HEAT H 37 o T | ST ST | 2

(A) Fmaa (B) e wa

(C) o e _ T

The Harappan Civilization is also known by which other name-? o

(A) Dravidian Civilization (B) Vedic Cwmzan‘o?z- |

(C}- Aryan Civilization (D) Indus Valley Civilization

- = =
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e Y St 3 9 4 FEET & 2

(A) ey forgrdt Aot (B) THEL ST

©) o \py wed e

Who is known as the father of GST in India ? -
(A) Atal Bihari Vajpayee (B) H.D.Deve Gowda

C) Narendra Modi (D) Manmohan Singh 7

PR e Hifeam wiewid 1 T 3R o 3 T “oelieE i STFHrT

(4) ® B T @} X @520 = ies and Snapch
Which social media platform introduced the conceptjof “Fleets”, similar to Instagram Stori€ Pchat

Snaps ? »

(A) LinkedIn \(Ba/TikTok :%) X (Twitter) (D) Naukrl _
132, ﬁ-mwﬁmﬁﬁ%m@ﬂmﬁﬁ(m@ﬁiﬁﬁ@ﬁﬁﬁgmﬁmmmm%?

() T By § S ©

Which term describes the process of assigning numbers to observations according to specific rules ?

(A) Hypothesis Testing (B) Analysis (C) Sampling (D) Measurement
133, e SR 1 - S e (ST o Ter) & W < 7

(A) ST 19 (B) TR 22 @ T 14 WPy R 2

fi

Which Article of the Indian Constitution deals with the, freedom of speech ?

(A) Article 19 (B) Article 22 Article 14 (D) Article 21
134, T 3 formr vt H g 3 90% Bt R e B €4
(A) TR (B) AT . (O W= Nk
\{n which city of India are 90% of the world’s small djgmonds processed ?
(A) Mumbai (B) Jaipur © Baroda (D) Surat

. 201‘1\a?ra=|11v|=n%?aﬂ¥rr{ I 1 et ST < 2
The total forest cover in India as per the 2011 census is

(A) 23.42% (B) 22.07% - (C) 17.80% (D) 21.05%
136. ﬁmmmwm,waﬁrmwﬁqaé@%mmm%,amﬁﬁwmmﬁ
& I uh AT Fi HAT SR 2 -

(A) IS ®) ¥ . (O el \Dy e
Which ancient Indian text is known for its detailed tf2&tise on music, dance and drama, and is considered a
foundational work for classical Indian arts ?

(A) Manusmriti (B) Vedas {® Arthashastra (D) Natyashastra B

137, Siigdia gt o foem e (IBRD) #1182
T e s T e & S it e i feraprer e e Shfs el &

(B) T T i waA & i fren e sorreft oy 3T ey e &

(C) T8 O et forefiar weerm & it ey @il =hi (i HemaaT Sam e &

(D) % T afus ferelia Heen & <7t B Haari i EELPCEETGIR S

What is the International Bank for Reconstruction and Development (IBRD) ?

(A) Itisa United Nations agency that focuses on poverty alleviation and social development

(B) Itis an international organization that regulates and supervises the global banking system

(C) Itis an international financial institution which provides financial assistance to member countries

(D) Itisa global financial institution that provides microfinance loans to small businesses

e R e e e E e E S EEEE.—,E e, ————— e emae
e =




138, TR, et e it e e o & g o, B 0 A v
N~ 3 R i
(B) ek w3 wlih
HTTETTF T § wuiaha wasi 'S
(D) == 3% ot 3 it s Temfm S odf

The Green Revolution, which significantly incg'ased agricultural production in many developing

countries, primarily involved : vk
(A) Advanced irrigation techniques , {j
(B) Organic farming practices O
(C) Genetically modified crops {-:J

(D) High-yield variety seeds and chemical fenilizeﬂs : .
139, M%H&ﬁm-ﬁ-aﬁmmﬁmtmﬁﬁ%%mﬁﬂmﬁiwﬁmﬁﬁmﬁww :

®: ‘
(A) SAERING STEUH (B) S fersdT
(©) e rgeum (D) i SFTEHAH !
The research that applies the laws at the time of field study to draw more and more clear ideas about the |
problem is : ‘:.:J
(A) Applied research 'ﬂB} Research analytics
(C) Action research s ‘Eh('D} Experimental research
140. =i i fraframes = fua 2 2 : O
(A) wRmETE By TR tH(C) AT (D) TH e
Where is the Central Agricultural Un“xlversity situat{d:r? -
(A) West Bengal (B) Uttar Pradesh 2(C) Manipur (D) Andhra Pradesh ;

mﬁmwmqﬁaﬂqaﬂ:mﬁmm# F R FAE ?
(A) ST i TRl R ST GaTe R F1 agraT 3 7 A Hiad Fh |
(B) gﬁmﬁm%mﬁﬁmmﬁmﬁmﬁ%ﬁ%ﬁ%ﬁmwjﬁﬂtﬁﬁﬂﬁﬁﬁ%ﬁﬁw ;

(©) eptaor et < T A Ot AT w39 AR e X

(D) IATHRSH &I W S T G

How does the Arctic Council help in addressing clinghite change and Arctic governance ? 2
(A) By focusing on promoting economic developgitent and resource extraction in the Arctic

(B) By regulatingasa governing body that dictatq;tlaws and regula‘tions for all Arctic nations
(C) By levying sanctions on memhar states who a‘r':"‘g not complying with environmental regulations
(D) By coordinating international efforts on Arcti¢fissues

142, T ¥ TR TR A A 2 J -
(A) <. SRRE 7 ‘(ge) Yot TSt Tt
ey <. wiE e (D) wfers wnfet
Who was the first President of India ?

(A) Dr. Zakir Hussain (B) Shankar Dayal Sharma
(C) Dr. Rajendra Prasad (D) Pratibha Patil

—___u--__..______.-—__—__.--___-___..---___-----___‘--—_~------..4_—““*_,_________.__'
e
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143, TGRSR SHT qfier @ - .
e (B) e i i

(A) i arfe :
T i e (D) siferaw i fordreferam

Human rights entail FJOth' : . o

(A) Rightsand obligations (J (B) LEbcriles and.el igations

(C) Liberties and privileges _ g (D) Rights and privileges
144, SpaceX- et fasft i feraaife aqaﬁamrdiﬁqﬂaé’fh LT fepa &1 2

g i s Toret () forerirem

Who co-founded SpaceX — the first privately ﬁln:(:I?-d space programme ?

(A) Jeff Bezos <] (B) E].on Musk

(C) European Space Agency < :I (D) Bill Gates

145. UNCTAD & i &I FITE ?
() e i R 3 8 T e
(B) wmmk@mﬁz
(C) TS A HIE 3T $2 68 SAATHE
(D) meﬁmﬁ@ﬁmﬁz ()
What is the full form of UNCTAD ? a%
(A) Universal Nations Conference on Trade an _Tj)evelopmentx‘

\'LB')’ United Nations Common Trade and Development
(C) United Nations Conference on Trade and Deyelopment X ,

(D) Unique National Conference on Trade and Development’X

%ﬂﬁgﬂﬁﬁmﬁmﬁsﬁwqm%ﬁmrﬁmg(‘ﬁm "9
(A) TSI (B) WS (C) #ew (D) eIfeH g
Who suggested that ‘‘Everyone has a specific blcﬁ}l group™ ?
(A) Louis Pasteur (B) Landsteiner (C) Mendel (D) Darwin
Aiftra fre 2 A TeTTET R 2
) aarm X By gemiE 0 © s X (D) 3

Sofia is the capital of which country ?

o (A) Bangladesh (B) Bulgaria o3 (C) Afghanistan (D) Benin
o e e Sy Tl AT o e & i ¥ 2
(A) 3R 73 \(9/ STT 75 d (C) TR 72 (D) =< 74
Which Article of the Indian Constitution deals Wll(!} the power of the President to grant pardons ?
(A) Article 73 (B) Article 75 {1 (C) Article 72 (D) Article 74

io) st ety e e 8 .
(A) weEl I YATHET (B) AH mﬂmr)({" WWWWW
The primary aim of a co-operative society is to :
(A) Serve the members (B) Raise more money (C) Earnmore profits (D) Raise production'

mw%mﬁnﬁf@aﬁ%aﬁmﬁmﬁﬁmh

Which of the following institution is responsible for cyb ity ?
ponsible for cyber security ?
(A) CERT-In (B) DRDO 3 © RAWY) \(B7 NIA
R —————— Ry




